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(1a) [Renshula.pas] 00O 000000000
program Renshula( input, output );
begin
writeln( ’Hello, world.’ ); {00000000 3

writeln( ’Hello, ’, ’world.’ ); {0000oooooag 3}

write( ’Hello, ’ ); { writeO O }
write( ’world.’ ); {000000 ¥
writeln; { OOOOOOO %}

writeln( > 0000000000 ); {000000oooooooo 3

end.

(1b) [Renshulb.pas) 00000000000
program Renshulb( input, output );
var n: integer; { OO OOOODOO }
x, y: real; { 000O0O0ODO0O %

begin
n := 100; {0D0o0o0oooog 3
writeln( ’Integer n = ’, n ); { OOO0O0OOCOOOODOOOO ?}
x :=3.1416; { 0DO0OO0OOOOOO 3}
writeln( ’Real x = ’, x ); {00000D0Dooooooo 3
y 1= X * n; {000 }
writeln( ’x *n =, y )

end.

(Ic) [Renshule.pas)] 0000000

program Renshulc( input, output );

var hankei, enshuu, menseki: real; { 0000O0OOO0O }

begin
writeln( 000 PI = °, PI ); {pIO000O0ODOO }
write( 0000000 DOOODOOOOO? ); {0oooo 3
read( hankei ); { 00000000 hankei OOO }
enshuu := 2 * PI * hankei;
menseki := PI * sqr( hankei ); {sqr000O }
writeln( > 00 °’, hankei, > OO0O ? ); {00000o00oOo0o0obOo0oobOoooOo ¥
writeln( > 0000 = ’, enshuu );
writeln( > 00 = ’, menseki )

end.



(1d) [Renshuld.pas)] 000000000 OOOOOOOOOOO
program Renshuld( input, output );
var n, m, wa, sa, seki, shou, joyo, k: integer;
begin
writeln( 00 n,mO00000000O00OOO0O );

read( n, m );

writeln( 'n =7, n, >, m=’, m);

wa :=n + m; writeln( >0 =, wa );

sa :=n - m; writeln( ° 0 = ’, sa );

seki :=n * m; writeln( >0 =, seki );

shou := n div m; writeln( >0 = ’, shou ); {div : OOOOOO }
joyo :=n mod m; writeln( > 00 = ’, joyo); {mod : ODODOOODO }

k:=((n+3)div7-1)x*xm { 000000000 }
writeln( 'n0 30000 7000010000 000000 7, k );

end.

(le) [Renshule.pas] 00000000000 DOOO
program Renshule( input, output );
var a, b, wa, sa, seki, shou, c: real;

begin
writeln( > 00 a,b 000000000000 );
read( a, b );
writeln( ’a =, a, ’, b=", b );
wa := a + b; writeln( 0 =7, wa );
sa :=a-b; writeln( ’0 =, sa );
seki := a * b; writeln( 0 = 2, seki );
shou := a / b; writeln( °0 =, shou ); {/ : 0000O0OO %}

c:=((Ca+3)/7-1) %b; {0o0O00ooooog 3
writeln( a0 30000 70000 10000000000 °, ¢)

end.

(1f) [Renshulfpas| 0000000
program Renshulf( input, output );
var a, b, c, d: real;

begin
a := 5.23; b := -3.58;
writeln( ’a =, a, >, b=, b );
c :=trunc( a ); d := trunc( b ); { trunc: OOO0OOOOOO0O 3}
writeln( ’trunc: ’, ¢, ’> ’, d); { 00000000OOOOOOOOO ¥
c :=round( a ); d :=round( b ); { round: OOOODODOOOOO }
writeln( ’round: ’, c, ’> ’, d );
c := abs( a-b ); {abs: OO0 }
writeln( ’abs( a-b ) = ’, ¢ );
c :=sqr( a-b ); { sqr: OO }
writeln( ’sqr( a-b ) = ’, ¢ );
d := sqrt( a+b ); { sqrt: OOO 3}
writeln( ’sqrt( atb ) =, d );
end.



